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2N =2
X HolE Meldlg 7=

tel: #A8E X

SA - =B (BH) - HMA il HlnE2
401 Al& Bl & 28I 50,000 0 50,000
01 A& HI 50,000 0 50,000

OLXZARA 28 HIE 2A 30,000
OLZAIRA Y g g M T 20,000

g/ d d8H SXHE A 277,440 269, 280 8,160
201 Let249] 277,440 269,280 8,160
04 XEE=SNMASEHZY 277,440 269,280 8,160

ogtZaeld deH 277,440

Mgl S & M 2l 1,510,780 1,110,780 400,000
201 L2l 10,780 10,780 0
01 At 22l 10,000 10,000 0

oO&Y=g Ol¥XNY
A 10,000
02 3323l 780 780 0
oMglIS& 22&1 780
206 M= Hl 1,500,000 1,100,000 400,000
01 MHZ 8l 1,500,000 1,100,000 400,000
oMddl =& M 1,500,000

MgDlSE2H Ald2ae 3 50,788 38,008 12,780
09 MEZ 29,788 38,008 28,220
01 SAL- SHILNHES 29,788 38,008 28,220

oMdII=sF2A AL 29,788
404 SANSHUA=2EHES 21,000 0 21,000
01 SA- SEHA=EEZ 21,000 0 21,000
oOXrHIIZSEM =AM 21,000

MEMY D Z2elthE 41,000 41,000 0
201 L2l 35,000 35,000 0
01 At 22l 35,000 35,000 0

oMYl ZeltiEe™d 35,000
203 YR =] 6,000 6,000 0
03 Al Z=X A2 =LY 6,000 6,000 0
OMYIl =HMH 25 6,000

HEAXNEXNE 24 5,000 6,500 A 1,500
201 L2l 5,000 6,500 A 1,500
02 3323l 5,000 6,500 A 1,500

03223 % HA 500
oxngrslH ¢ HHEIHR 4,500
A=AA 252 Hel 25,000 22,500 2,500
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2N =2

M HIIZE Meldlgt 2=
Chel: HOIE MoAE A48 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEE8x, ZIMERES & XHEAA - =4H|
= 10,000
206 M= Hl 75,000 75,000 0
01 =8l 75,000 75,000 0
Od=H & EHM 7 S 25,000
AFHMZH 2 S 50,000
HIIE2dE 223 1,190,000 1,190,000 0
308 XX EHH SOl A 1,190,000 1,190,000 0
07 X HH2LESE S 1,190,000 1,190,000 0
OMEZE HIISXHZ RE2 1,190,000
=3 A2ATEHYH 2 29 9,000,000 7,800,000 1,200,000
307 gl2tol & 9,000,000 7,800,000 1,200,000
05 RIZHRIE 3 9,000,000 7,800,000 1,200,000
OF=3 A2AXNJAEH & 29 9,000,000
MEHAL2ZTN2HAE IS (A 210,000 0 210,000
401 Al HIZ 201 Y] 210,000 0 210,000
01 A& HI 210,000 0 210,000
OM=AHLAXIALE Jlsa 210,000
HIOISM2AE fFXUNEE ZAL BHEHE S 100,000 0 100,000
401 AIEHI L 20 100,000 0 100,000
01 A& HI 100,000 0 100,000
OAX2AXJEE REXANLHEE XA BHEH &Y 100,000
22PN AEH BT Y HIAMI 2EH 100,000 100,000 0
401 AIEHI L 2 0] 100,000 100,000 0
01 A& Hl 100,000 100,000 0
OLAUXJAMEH A2TH 28HI 100,000
MEMY D SEHY ZEH ALY 100,000 0 100,000
401 Al HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
ONEHE W LAEE HEHII= d=ZHA
2l 100,000
A=A Z2AM D] e £ Edl At 1,100,000 700,000 400,000
401 AIEHI L 2CHEI 1,100,000 700,000 400,000
01 A& tl 1,100,000 699,000 401,000
OFFTA ZAMY DI Y L HUIAML 700,000
O5SE M FEXZA 350,000
O=&EHM 7Y & 28 50,000
S ZAMg D HEE =M 28 24 150,000 200,000 A 50,000




P AE=EY
CHJIE ™Medlgt &
D HJIZE MelAE HE 23

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 150,000 200,000 A50,000
01 A& HI 150,000 200,000 A 50,000
og=HY 2L ¥ U=AE EN 150,000
ZAHIISHEEUH T2 ¥ D3 FH AL 50,000 50,000 0
401 A& HIZ 201 Y] 50,000 50,000 0
01 A& HI 50,000 50,000 0
ZAHISHEE HREE2 RAES S 50,000
HOI2 XMelAld sA2el 150,000 230,000 280,000
401 AIEHI L 2 CHYI 150,000 230,000 280,000
01 A& HI 150,000 230,000 80,000
OL2AY FOUHAAL RABL 70,000
CEE2=z RAES 30,000
ONME & &g U A5 X MEALE &X 20,000
OE & HoAAA &X 30,000
ZAHIISMAANE =HIESXA e 822,000 1,600,000 AT778,000
402 RI2FX=20l M 822,000 1,000,000 A 178,000
01 2I2E 2 A B (KM ) 822,000 1,000,000 A 178,000
OZIHIISHMEIANE FHISXNA == A
o 822,000
HOISM2AE 2414 BHEH 204 524,900 0 524,900
201 £B-2dH| 524,900 0 524,900
02 =224l 524,900 0 524,900
OHJISMelAlE 240tA &2 204
50,000& 10,498 524,900
Hol2 Hes 29 22 11,237,780 10,241,280 996,500
= 582,000
< 30,000
Al 10,625,780
A= S AL 2tel 260,960 330,960 A70,000
201 Let24d| 225,960 240,960 A 15,000
01 At 22/l 150,960 150,960 0
ORYe+ & YR+ =E2IAMN ==& 12,000
OYAII=2eUEd =2 102,960
oAzl 24,000
Oz Xl HMeldl 12,000
02 2324l 75,000 90,000 A 15,000
Oozels, H=Xel&d dIIe=s 36,000
ozels otk ¥ MRS 1,200
OZcls BtFHIAIAE || 1,200
ozcls dIItEH] 2,400




2N =2

M HIIZE Meldlgt 2=
S HIIZE WEE 2Z 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OH=XclZ Al&ZHl Kbl 34,200
207 RO ] 15,000 0 15,000
01 289 15,000 0 15,000
OZTBHAHM2IANL HIBRY HAN S 42 o
Sso 15,000
401 Al HIZ 201 8] 20,000 90,000 A70,000
01 A& HI 20,000 90,000 A70,000
O3z EsHA XNREH2AHE HE Y 20,000
SASMY Dl 2UERIE Xl 6,000,000 5,550,000 450,000
307 21201 A 6,000,000 5,550,000 450,000
05 RIZtelEt = 6,000,000 5,550,000 450,000
o=sasMd Dl IS Heldl 5,830,000
OHVIZENZ2RES 170,000
sSA2 Hasg ¢ 2g2e 27,000 65,000 238,000
201 L2l 22,000 60,000 38,000
01 At 22l 5,000 5,000 0
OSASMY I 2 & HHELE HIAUE
flet AT 22 MA 5,000
02 2324l 17,000 55,000 238,000
OSASMYD| tHEHIAHM Z2lAIAE KX
2= 17,000
206 M= Hl 5,000 5,000 0
01 = 8l 5,000 5,000 0
OMNEEI &d2asaE & 4285 ¢ 5,000
GEmHoe 22 € AE2Y 1,330,000 1,330,000 0
201 Let24d] 80,000 80,000 0
01 At 2teltl 30,000 30,000 0
OUEHIIE el & ANER2Y 30,000
02 =224l 50,000 50,000 0
OUEHII=S 22l & N2 50,000
401 AIEHI L 2 CHYI 1,250,000 1,250,000 0
01 A& HI 1,250,000 1,250,000 0
OJXHd & HIM HWEHII= AKX 1,230,000
OAZHE 22 AlE SA 20,000
CHEmHOI2 tHE AHYAIAE KXzl 8,820 8,820 0
201 LBt2d| 8,820 8,820 0
01 At 22l 8,820 8,820 0
OUEHIIE T2 X2 8,820
HassMddl eIt EXeltl 1,800,000 1,418,000 382,000




2N =2

3 HII2 Melolet =5
S HIIZ2 HEs 29 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 1,800,000 1,418,000 382,000
05 A2t E = 1,800,000 1,418,000 382,000
oMgEE Ml 2U2H & X 2lbl 590,000
oHg&ds 28t Meldl 20,000
onMgs8dgd &M= Halyl 620,000
O3 MEEHI= 28tA2lbl 570,000
HEA SECIMOISZE2 MHESHEAE & 582,000 725,000 A 143,000
= 582,000
401 AIEHIL 20| 582,000 725,000 A 143,000
= 582,000
01 Al &bl 582,000 725,000 A 143,000
OMEEHYEAAE I L S S At 582,000
= 582,000
13182 =207 &3 =& 5,000 97,500 AN 92,500
201 Bt A | 5,000 6,500 A 1,500
01 AFR2 22l Yl 5,000 6,500 A 1,500
OUS20HY 3o&Es =4 S 5,000
HMZ SctAE Al 100,000 0 100,000
& 30,000
Al 70,000
307 QI2t0| & 100,000 0 100,000
& 30,000
Al 70,000
02 QI2tAAMAIE E =X 100,000 0 100,000
OMZ EctAE AFY 100,000
< 30,000
Al 70,000
Hes =826t A 24,000 24,000 0
307 QI2t0| ™ 24,000 24,000 0
05 012t 32 24,000 24,000 0
OHSoAZE = 2EtHel HHAY MM X
2l 24,000
HFA MESHdEH OAE 29 400,000 12,000 388,000
307 QI2t01 ™ 300,000 0 300,000
05 A2t E = 300,000 0 300,000
OMEEZHMEH It 300,000
405 XHabF SHI 100,000 0 100,000
01 A&t =S F SHI 100,000 0 100,000
OMEZHMH 237 100,000
NEE2E 22ti= 650,000 0 650,000




2N =2

3 HII2 Melolet =5
o4 HIIZ2 NEs 2Y 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
101 @121l 440,000 0 440,000
04 JI2ZtH2Z2XNHEE 440,000 0 440,000
oMEEsE 2cltiE JI2AHES 440,000
206 M=l 210,000 0 210,000
01 X2t 210,000 0 210,000
O=zcle=HE B FHl 150,000
O3S MESHII=2 =HE HEOW #L 60,000
HHOIQIOIA =AHS AKX ALY 50,000 0 50,000
401 Al HI YL 2 0HHI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O TAHEANEZE S 50,000
HHSHHAH (IR =21) 67,760 70,264 N2,504
J2Z 8l (K =8t]) 67,760 70,264 AN 2,504
J23H (KA =81}) 67,760 70,264 AN 2,504
201 et A | 35,360 34,384 976
01 AFR2t2l Yl 35,360 34,384 976
O YBt=gH| 18,000
o= &l 15,360
o994 2,000
202 04| 28,800 31,680 N 2,880
01 2LHOHI 28,800 31,680 N 2,880
OJI2gRF=&A| 28,800
203 YR =&lY| 3,600 4,200 A 600
04 2SI L RF=AH| 3,600 4,200 A 600
ORANEIEYERF=AH| 300,000& x12& 3,600
HEES(NHH=s}) 1,491,000 1,491,000 0
HEHH K& (K =8t) 1,491,000 1,491,000 0
SaSMYD g ANES 91,000 91,000 0
701 JIEIS HEEHES 91,000 91,000 0
02 BIILELEIIJHINTES 91,000 91,000 0
OSAMSMYIIL4E MEI4ERT B2
A-MEZ 91,000
HdF=A ZAHIISMHE ALY FUXAAINS 400,000 400,000 0
7020|282 400,000 400,000 0
(AEVIE=PSE= 400,000 400,000 0
ONFH ZYHIISHEAIE FUXIAINZ 400,000
NF=HAAAXNREE FUAXAI= 600,000 600,000 0
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